السلام عليكم ورحمة الله 

طبعا هذي اسئلة طلاب مستوى ثاني ادارة اعمال 

وركزوعليها  اقل شي يمكن يجيب اسئله منها او اقل شي تعرفون طريقة الدكتور عمار 

واذا الصوره مو واضحه سوى لها حفظ على جهازك وكبرها 

مع تمنيتي لكم بالتوفيق عبودي 999
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(7) Microsoft and apple_ producers of computers.

() s the largest
() are the largest
(c) are larger than

(3) is the large
(8) Its natural park in Asia.

(1) the finest
() the finer
(c)finest
() finer
(9)When will the basketball match at?
(1) starts.
(<) start
(c)started
(2) starting
(10)  This music was popular ___ the 1990s.

() in
(<) with
(@)on
(3) at
(11) Maradona and Messi are one of the ___ players.

() good
(<) best
(z)goodest
(3 better




image2.jpeg
et

a3 A Ty U

Fanilies in almost every country are changing. This is true in
fich countries and poor ones. It is true in Afica, the
Americas, Asia and Europe. All over the world, families are
getting smaller

In North Africa , in the past, many people lived in extended
families. Fifty to hundred people lived together in a group of
houses. These_ were all family members- grandparents,
aunts, uncles, cousins, children, and grandchildren. But now
this traditional family is breaking into smaller groups.

The traditional family in Mexico was also big. One
generation ago, the average Mexican woman had seven
children. Today, she has an average of only 2.5 children
Now , without 50 many children, families don't need to spend
s0 much money on basics, such as food, clothing and
housing.

(12)1 usually carefully when it rains.

() drove
(<) drives
(z)driving
(3) drive

(13) My brother cooks rice and meat

(14)What happened to the traditional family?

() now

() yesterday
(c)once a week
(3) last month

(I Getting larger

(<)Breaking into smaller groups
(¢)Had no children

(3) Became rich





image3.jpeg
QT s e O SR

Eci a5l ks 1

(15)Food and clothing are

() Grandchildren
(<)Families
(¢)Members

(5 basics

(16) The underlined pronoun * she” refersto___——

(i) A brother
(=) An aunt
(z)Mexican Women

(3) A family
(17)The Is!in the word “goes” has the same pronunciation of

the latter /s/ in the word:

() heats
(=) repairs
(c)breaks
(3) cats
(18) The underl

() Families
() countries
(g)children

lined word “ ones” refers to: »





image4.jpeg
0 ton

9 1y pnie

Lhedamandig
(e udonando
ol e i o 7P

\were you doing?
) wore wabing
& ke

(i kot
ki

(hwaod
{2 waa waing
had wakao

(S waing

(36)Tha word that

(1contused
{Syovng

{eiioepy
{Siorostng

50 my auts offce

ho opposts masing

i

oy 30 Yot

gt

ot g

‘L\

[ -

el
boug

proucers o computrs.

(isho g
) are e et
(e} e et
et

o’ Pl park i At

0 we st
) e toer
(nest
Giner

s





image5.jpeg
1T Wy e ey

) You want v

: L
- Oy P
= e ey . e o e S Toe
o e
e :
P A s
et familes s i = e
B, S CiEr v
1 o ot o
= derined word look fo fheme
g = . oo
= )
& i Pl
eorEmaiaer Nl
il il
i S
= ) beautl h
(<) problem
i
Gy





